Inappropriate Shifts in Verb Tense

A verb tense must match the time the verb’s action takes place.

A shift in verb tense occurs when the tenses in a text change.  When the actions take place at the same time, a shift in tense is inappropriate.

Incorrect:	My mom made pasta with turkey meatballs and we eat that for dinner.

Correct:	My mom made pasta with turkey meatballs and we ate that for dinner.

Correct:	My mom will make pasta with turkey meatballs and we will eat that for dinner.

Exercise A:	Identify the verb tenses in each sentence (past, present, and future).  Rewrite each sentence with an inappropriate shift in verb tense.  If the tenses are correct, write “correct” on the line.

1. Radishes are the crops that grew best in temperatures below 80 degrees Fahrenheit.

Radishes are the crops that grow best in temperatures below 80 degrees Fahrenheit.
OR
Radishes were the crops that grew best in temperatures below 80 degrees Fahrenheit.

2. My teacher suggested extra practice when I failed my grammar test.

CORRECT – Both verbs are in the past tense.

3. I think I will score 100% on my math test because I studied hard last week.

CORRECT – We have a time indicator.

4. The spectators cheered with jubilation when the ball will land straight in the net.

The spectators cheered with jubilation when the ball landed straight in the net.

5. As Richard puts his shoes on, the telephone rang.

As Richard put his shoes on, the telephone rang.
